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Attempt the following questions:

Pulley in a belt drive acts as
(@) cylindrical pair  (b) turning pair
The purpose of a link is to

(c) rolling pair  (d) sliding pair

(a) transmit motion  (b) guide other links  (c) act as a support

(d) all of the above
Typewriter constitutes

(a) machine (b) structure  (c) mechanism (d) inversion
Whitworth quick return mechanism is obtained by inversion of
(@) slider crank mechanism (b) kinematic chain

(c) five link mechanism

(d) roller cam mechanism

The moment on the pulley which produces rotation is called
(@) inertia  (b) momentum  (c) torque
The magnitude of tangential acceleration is equal to
(@) Vir  (b)V.r () VIr  (d)Vvr
For L number of links in a mechanism, the number of possible inversions is

(d) work

equal

(@ L-2 (b) L-1 ()L (d) L+1

A cam mechanism imparts following motion

(a) rotating (b) oscillating

(c) reciprocating (d) all of the above

Module of a gear is

(@) DIT (b) T/D (c) 2DIT (d) 2T/D

The tooth profile mostly used in gear drives for power transmission is
(@) A cycloid (b) An involute

(c) An ellipse (d) A parabola

For safe design of clutch, we assume
(a) Uniform pressure condition
(c) Uniform speed condition

(b) Uniform wear condition
(d) Uniform tear condition
The ratio of tension of two side of a flat belt is given by

(14)
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(a) e™ (b) e (c)epd (d) None of the above

m) A Watt governor is a governor of the

(@) inertia type (b) pendulum type
(c) centrifugal type (d) dead weight type

n) What is the angle of V-belt?

(3) 20° 10 30°  (b) 30°t0 40" (c)40° to 50°  (d) 50° to 60°

Attempt any four questions from Q-2 to Q-8

Q-2

Q-3

Q-4

Q-6

Attempt all questions

Define inversion of Mechanism. Explain any one inversion of single slider crank
Mechanism with neat sketch.

What is kinematic pair? Classify and explain various types of kinematic pairs
with neat sketches.

Attempt all questions

Sketch and explain double slider crank mechanism. Label its' links, joints,

clearly.

Explain with neat sketch Klein’s construction for velocity and acceleration of the
parts of Reciprocating engine.

Attempt all questions

What is cam? Sketch and explain types of cam and followers.

A cam is to give the following motion to a knife-edged follower :

1. Qutstroke during 60° of cam rotation ;

2. Dwell for the next 30° of cam rotation ;

3. Return stroke during next 60° of cam rotation, and

4. Dwell for the remaining 210° of cam rotation.

The stroke of the follower is 40 mm and the minimum radius of the cam is 50 mm. The
follower moves with uniform velocity during both the outstroke and return strokes. Draw
the profile of the cam when the axis of the follower passes through the axis of the cam
shaft.

Attempt all questions

List types of clutches and explain construction and working of a single plate disc
clutch with neat sketch.

Explain types of belt drive. State the advantages and disadvantages of belt drive.

Attempt all questions

Explain the function of the flywheel. State the difference between flywheel and
governor.

State functions of governor. Explain any one type of governor with neat sketch.

Attempt all questions
State the types of gear train and explain any one with sketch.
An engine, running at 150 RPM, drives a line shaft by means of a belt. The

engine pulley is 750 mm diameter and the pulley on the line shaft being 450 mm.
A 900 mm diameter pulley on the line shaft drives a 150 mm diameter pulley
keyed to a dynamo shaft. Find the speed of the dynamo shaft, when 1. there is no
slip, and 2. there is a slip of 2% at each drive.

(14)
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Q-8

Q-1

f)

9)

h)

)

K)

Attempt all questions (14)
Classify the various types of vibrations. Explain each type in detail. 7
Explain the balancing of several masses rotating in the same plane by analytical 7
method.
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M) dlg olclolR A sl YsiRe] dlctel B?

(a) SotRIAL UslRq] (b) UoSYAH YSlR0]
(c) AoB|LYOIA YSIRq] (d) 35 A2 YslRd]

n) dl-Aceui 32l wall s 87

(@ 20" dl 30°  (b)30° dl ¥0© (c) ¥or Adl wo°  (d)uo® &l so°

Y-2 ol Y-¢ Higll 818 Rl ARell wellol Al

Q-2

Q-5

o{lAotl oLl Usllotl cllol AW, (14)
Soclogal wlg Mol ol catvaul . Rotd s 55 H3ellosHe] 5165 uwl 7
W5 Yool 219 lslA 131 Al

slaAaNdls UR AWed 9?7 (Aau ysiRell staadls Vqj aollswl 531 gl €131 7
TRILTEN

o(lAotl oLl Yslloll ellol AU, (14)
SHUA USSR 55 MFellosn ety us(d 131 arestall. Aol ls U W\ Soe 7
eyl eallal.

RAUEL Aeetotl [QAU edlstt Aol wal Yyaol Aucliell scllotoll 2Ustl 7

sl 13 unen Al

o{lAotl oLl Usllotl wcllol AW, (14)
S Aed 9?7 3M U HAUR oll YsR sl €131 umendl. 7
As 3H 93 WR A (U5 A HAMR) A o{lA YA ot il 26l B. 7

1) 3U ol 50° oll YHERl Yl AU GuslA B,

) 3H ol uloll 30° oll HRL e[t AR RAR 2@ B.

3) 3H ol ugloll 50° otl AUl et AU oA 2w B.

¥) Utlotl 290° ol gHBl e{erlel SlARMR RAR 2 B.

SARUR oll 215 ¥0 mm ol 3H ol AYdH AU U0 mm B. SARMR GUR ¥l
U oflA vladl avad YBg Aot ol old 52 &, %l 3 ol sal AU «ll
setlHidl uR adl sl dl 3 ol Usigda €L

ol Aot sl Ysllotl sellol dAvll, (14)
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Q-6

Q-7

Q-8

ol Aol ol Ysllotll scllet Avll. (14)
sclaAcglda] sl AMestal. sAlAEA Aol dlclelR Al dslald AU 7
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Ue{l Yclloll cautt U0 mm el clgfol 2Wse URell Ylloll cat ¥uo mm 8.

Ael Wse UR WA 00 mm e ugddl yell staanl wse uRell 1auo

mm A URlddl Ydla es2 8. w2 1) ellu o fla ?) €35 SIS UR ellu

2% A, AR sl algeoll »su Nl

o(lAotl oLl Ysllotl ellol AU, (14)
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